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1. (1 point) If  𝐴 = [
1    7
3 −6
0    2

],  find  𝐴𝑇 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2. (2 points) If  𝐴 = [
7 −2
1    4
2    3

]  and  𝐵 = [
0    3 2
1 −1 2

] ,  find  𝐴𝐵. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



3. (4 points) When writing the system of equations                                                       

 

as the matrix equation  𝐴𝑥⃗ = 𝑏⃗⃗ , find… 

 

a)  A                                                     b)  𝑥⃗  (don’t solve for  𝑥⃗  here)                                   c)  𝑏⃗⃗ 

 

 

 

 

 

 

 

d) Row reduce an augmented matrix to solve for  𝑥⃗  (calculator OK) 

 

 

 

 

 

 

 

 

 

 

 

 

4. (3 points) Prove:  If  A  and  B  are  𝑚 × 𝑛  matrices, then  (𝐴 + 𝐵)𝑇 = 𝐴𝑇 + 𝐵𝑇 . 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Extra Credit 

 

1. (2 points) Prove:  If  𝑥⃗1  and  𝑥⃗2  are solutions to  𝐴𝑥⃗ = 0⃗⃗,  and  a  and  b  are scalars, then  𝑎𝑥⃗1 + 𝑏𝑥⃗2  is also 

a solution  𝐴𝑥⃗ = 0⃗⃗. 

   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2. (2 points) Prove or disprove:  If  A  and  B  are  2 × 2  matrices, then  𝐴𝐵 = 𝐵𝐴. 
 


